Efficiency vs Dxy(PV)
< 0.05g

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__ORIGINAL

I Efficienc] — DQM_TT__MODIFIED_propToPlane_PRVersionFINAL5

< 0.5

&
i

efficiency vs dxy(PV,
o

o
-

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

o
3

o
)

o
o1

efficiency vs dz(PV)

o
IS

o
w

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
r;OAOS
%.045
©
£0.04]
>
.035
o
o
£ 0.03
)

0.025

0.02

0.015

0.0~ ------

0.005

1.8

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


